TO BE SUBSTITUTED FOR BEAVEING SAME NO. AND DATE

EDUCATION DEPARTMENT: CI{ANDIGARII ADMINISTRATION

OFFIER

In supersession of this office Order No.DPI-UTA3-11(1)2008, dated 4.4.2008, approval is hereby accorded to the revision of rates of Fee and Pupil's Funds in respect of students for 9th, 10th and 10+1, 10+2 all streams in respect of all the Government as well as Privately Managed Government Aided Schools of U.T., Chandigarh from the academic session 2008-09 subject to admissibility of other benefits/concessions:

- No fee and funds upto VIIIth Class for both boys and girls.
- Luition fee from girl students (Model & Non-Model).
 - SE/ST boys are also exempted from Tuition Fee. 3.
 - Funds will be charged half from SC/ST students both boys and girls. 4.
 - Smart sections students will be charged Ps.150/ per month in addition to the normal 5. fees and funds.
 - No tuition fee will be charged from al. boys students belonging to 6. Muslims/Christians/OBC, handicapped, Freedom Figiters Ex-serviceman, Widows, divorces having family income below the limit of 1.5. lacs per year.
 - Boys students of all rural schools will also be exempted from half tuition fee if they 7. provide a proof of residence and of income limit below Rs.1.5 lacs per annum.

These rates of Fee/Funds shall be valid for minimum three years.

Nature of fee/fund	Present rates IX - X (Rs.)		Revised rates IX - X (Rs.)		Present rates XI – XII (Rs.)	XI	Revised rates XI – XII (Rs.)	
	Model	Non- Model	Model	Non- Model	\$	Model	Non- Model	
Admission fee (once)	5/-	2/-	12/-	5/-	10/-	25/-	25/-	
Re-admission fee		i -			7/-	17/-	17/-	
Late SLC fee	0.50	0.50	1/-	1/-	0.50	1/-	1/-	
Tuition fee (per month)	15/-	6/-	37/-	15/-	20/-	50/-	50/-	
		Fu	nds (annu	ual)			Land Ball Ag	
Lib. Security (refundable	- 1 y %	-			50/-	125/-	125/-	
Magazine	20/-	-	50/-		35/-	87/-	87/-	
Excursion	25/-	5/-	62/-	12/-	25/-	67/-	67/-	
Identity Card	-				5/-	12/-	12/-	
Dilapidation	-				10/-	25/-	25/-	
Building	6/-	6/- ;	15/-	15/-	12/-	30/-	30/-	
Club/Society	-				10/-	25/-	25/-	
Voc./Guidance	-	•			6/-	15/-	15/-	
Sports	10/-	3/-	25/-	7/-	11/- & 12/-	27/-	27/-	
Examination/Stationery	-	10/-	-	25/-	20/-	50/-	50/-	
		FUND	S (MON'I	THLY)		•	-	
Amalgamated	10/-	5/-	25/-	12/-	7/-	17/-	17/-	
Audio visual Fund	2.50	1	6/-	2/-	1.50	3/-	3/-	
Red Cross Fund	3/-	1/-	7/-	2/-	1.50	3/-	3/-	
Health Fund	2.50	1/-	6/-	2/-	1.50	3/-	3/-	

examination/Stationery	8/-	•	201/-	2/-	3/-	27	71- at Million
Child Welfaro	3/4	11/-	10/-	5/-	3/-	1577.	mpmil-
Mort Pan	4%	2/-	- 2/-	- 2/4 many 10	1.50	3/-	3/-
Cycle	11.				3/-	7/-	7/-
Scooter/Moped *	•			y.e.	7/-	17/-	17/-
Voc. Spb. Fund	•	•		1	6/-	15/-	15/-
Chemistry/Physics /Bio/Music/Dance /H.Sc.,/F.Arts/ Geog/Psy/Com Sc.	•		•			1 3	
(per subject) Science fund	3/-	2.50	7/-	6/-	•		1-

It is further clarified that the exemption of tuition fees and other benefits to

the communities/categories mentioned in letter No. DPI-UT-A2-11(1)2008, dated 12.3.2008 shall continue to be allowed operative mutatis Mutandice.

1 ated Chandigarh, the

Sanjay Kumar Education Secretary, Chandigarh Administration.

Dated :- 15 4/08

Endst. No. DPI-(IT-A3-11(1)2008

A copy is forwarded to the following for information and necessary action:

The Home-cum-Education Secretary, Chandigarh Administration.

The Accountant General (Audit), Punjab Sub office, U.T., Chandigath

The Accountant General (A & E), Punjab Sub office, U.T., Chandigarh.

The Director Social Welfare Department, Chandigarh Administration.

The Treasury Officer, Central Treasury, U.T., Chandigarh.

Director Public Instructions(S) Chandigarh Administration.

Dated: 15 4 08

Endst. No. DPI-UT-A3-11(1)2008

A copy is forwarded to the following for information and necessary action:

The Distt. Education Officer, Chandigarh Administration. Copy of this circular may be placed on the official web site of the Education Department as well as on the notice board of

The Deputy DEO-I & II, Chandigarh Administration.

The ADVE, Education Department, UT Chandigarh.

The Registrar Education (Schools) o/o D. P.I, U.T., Chandigarh. Copy of this circular may be placed on the office notice board to: public and also place a copy of this circular on the official web site of the Education Department as well as on the notice board of her office.

The Principals/Heads of Govt. Model Sr. Sec. Schools/Sr. Sec. Schools/Model High Schools/High Schools/ Model Middle/ Middle Schools/ Model Primary and Primary Schools of U.T., Chandigarh.

The Block Education Officers, Education Department, Chandigarh Administration.

8.4.24

Incharge

Govt. High School

Sector 38-B, Chandigarh

Director Public Instructions(S)
Chandigurh Administration.

2. Govt. Non Model Schools:

i) IX Class:

Detail of Fee Fund wise class IX

CATEGOR

	General C	ategory	SC Category		
Name of the Fund	Boys	Girls	Boys	Girls	
Annualy Fees	in Rs.	in Rs.	in Rs.	in Rs.	
Excursion Fund	12.00	12.00	12.00	12.00	
Building Fund	15.00	15.00	15.00	15.00	
Sports Fund	7.00	7.00	7.00	7.00	
Stationery Fund	25.00	25.00 25.00		25.00	
Admission Fees	5.00	5.00	5.00	5.00	
TOTAL Annual Fees	64.00	64.00	64.00	64.00	
Monthly Fees					
Tution Fee	15.00	<u> </u>		-	
Amalgmated Fund	12.00	12.00	6.00	6.00	
Red Cross Fund	2.00	2.00	1.00	1.00	
Child Welfare Fund	2.00	2.00	1.00	1.00	
Audio Vidual Fund	2.00	2,00	1.00	1.00	
Health Fund	2.00	2.00	1.00	1.00	
Science Fund	6.00	6.00	3,00	3.00	
Work Experience Fund	5.00	5.00	2.50	2.50	
Cycle Pee	2.00	2.00	2.00	2.00	
I.T.Pund	10.00	10.00	5.00	5.00	
Total Monthly Fees	58.00	43.00	22.50	22.50	

Govt. High School Sector 38-B, Chandigarh

ii) X Class of Govt. Non Model Schools:

Detail of Fee Fund wise class X

CATEGORY

	General	Category	SC Category		
Name of the Fund	Boys	Girls	Boys	Girls	
nnualy Fees	in Rs.	in Rs.	in Rs.	in Rs.	
Excursion Fund	12.00	12.00	12.00	12.00	
Building Fund	15.00	15.00	15.00	15.00	
Sports Fund	7.00	7.00	7.00	7.00	
Stationery Fund	25.00	25,00	25.00	25.00	
Admission Fees		*		**************************************	
TOTAL Annual Fee	59.00	59.00	59.00	59.00	
Monthly Fees	3.1.1				
Tution Fee	15.00	· · · · · · · · · · · · · · · · · · ·	-	# · · · · · · · · · · · · · · · · · · ·	
Amalgmated Fund	12.00	12.00	6.00	6.00	
Red Cross Fund	2.00	2.00	1.00	1.00	
Child Welfare Fund	2.00	2.00	1.00	1.00	
Audio Vidual Fund	2.00	2.00	1.00	1.00	
Health Fund	2.00	2.00	1.00	1.00	
Science Fund	6.00	6.00	3.00	3.00	
Work Experience Fund	5.00	5.00	2.50	2.50	
Cycle Fee	2.00	2.00	2.00	2,00	
LT.Fund	10.00	10.00	5.00	5.00	
Total Monthly Fees	58.00	43.00	22.50	22.50	

Incharge

Govt. High School §ector 38-B, Chandigarh